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1 |F#5-53 AR FRXERES TH10 9% 7 16, 400, 000 14, 300, 000] A 12.8
[4RFEES —6 —2 0]
2 |A#H5—5 AR BHRXEERE2 THG6 6%2 1, 800, 000 1,580,000 A 12.2
[PEE%E2—-13—10)]
3 |[AH5—4 RS BHRXKEETITHL6%1 44 5, 000, 000 4, 400, 000] A 12.0
F&z1—1—2]
4 |HEEEFS5—20 AR REETHHRXILFETT 30%E9 910, 000 816,000] A 10.3
5 [THRHES5—48 [HmE#H FREXAERITTITHL4%1 64 4, 660, 000 4,180, 000] A 10.3
TEHAT1—2—9]
6 |#1E5—25 AR HEX B T2 TH429%1 1 2, 240, 000 2,010, 000] A 10.3
F#PEEr2—10—71J
7 |#HimE5—18 AR HEX B T2 TH438%&1 1 1, 390, 000 1,250, 000[ A 10.1
F#PEEr2—21—6J
8 |#HmEs5—1 AR i XN 1 THS 2% 84+ 9, 300, 000 8,370, 000] A 10.0
FHE&ET1—1—16]
8 |#fE5—17 AR FEXFESTH1I07EL 4 19, 000, 000 17, 100, 000] A 10.0
[#HE3—28—9)]
10 [#fE5—15 AR i XHiE 3 TH 5% 24+ 19, 500, 000 17,700,000 A 9.2
[#E3—5—4]
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1 | KBrRHg 5 —1 9 | KBRE KPR XEEE 1 T B 3 7 %5 8, 050, 000 5,800, 000 A 28.0
MEEHE1—6—10]
2 [KBgHg5 —2  |KIRKF KRBT g XA P 4 6 % 1 4+ 28, 700, 000 21,100, 000] A 26.5
FrAfMT 7 — 2]
3 | KPR 5 — 1 5 [ KB KRR X 1 TH1 4% 2 24 10, 300, 000 7,650, 000] A 25.7
Tt 1 —8—21
4 | KRR 5 — 2 4 [ KB KIRTFTHRXEAFEL TH1 6%F44+ 1, 500, 000 1,160, 000] A 22.7
[EAG1—21—6]
5 [KEgHg5 — 2 3 [KIRKF KRR OFER 2 TH3 9% 1 18, 700, 000 14, 900, 000 A 20.3
TLEBH2—8—5
6 |KFRHg5 — 3 5 [KIKKF KR RXFHA2 TH156%09 795, 000 660, 000] A 17.0
[THAT2—4—1 3]
7 | KRBRHY%R 5 — 2 0 | KB KA R RXPELEBE2 TH10%64 3, 600, 000 3, 060, 000] A 15.0
[PELEE2—1—25]
8 |[KFgHg5 — 2 5 [KIKKHF KB X756 1 TH 3 5% 344+ 2, 630, 000 2,250,000 A 14.4
TLEBm1—4—209)]
9 [mEHILS —1 [SEUF [ E KRR EA 2 T HEANT 3 5 7% 1, 510, 000 1,300, 000] A 13.9
10 | KB 5 — 1 8 [ KIRAF KPR LR L T H8&F 13, 100, 000 11, 300,000 A 13.7
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1 |BEHEH5—2 8 |Emik LEET XS THO 1 4% 14+ 1, 840, 000 1,560, 000 A 15.2
[#3—9—14J

2 |&EBEPS5— 16 |Fmk Sl ETRXG4THL 31 2%5 715, 000 644,000 A 9.9
[%4—13—15)]

3 [&EBEb5—3 |[Fmk AR HX%3TH2502%2 1, 800, 000 1,630,000 A 9.4
%3—25—41]

4 |BAEEPR S — 3 (B Sl BT A XAERT 5 0 7 3% 3, 480, 000 3,160, 000] A 9.2

5 [&E@Eh5—5 |k RT3 THL 31 4%5+ 3, 700, 000 3,360, 000] A 9.2
[%3—13—20)]

6 [&EBEP5—4 |[FmHmk Ll ETHRAAL4THE 1 58 2, 800, 000 2,600,000 A 7.1
[&14—6—27]

7 |BEHEPR S — 1| Emk Sl BT A XAERT 15 0 1 %4+ 6, 560, 000 6, 100,000] A 7.0
[#mr15—2)]

8 |[&EEHhs5—1 7 Fm& RT3 THS 0 1% 14+ 11, 600, 000 10, 800, 000] A 6.9
[%3—5—1J

8 |4 WEEMH S5 — 3 | HmR AR TEBEXASLITT TH20 5% 2, 030, 000 1,890,000 A 6.9
F&mr1—2—17)]

10 |[AHETES — 1 |Zmk AR TEXASME THI 1 1% 559, 000 523,000( A 6.4
[5u5—9—9]
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1 |@Els5—1 gl B3 U, EILT R =205 1% 345, 000 303,000] A 12.2

2 |EBEF5—14 (KB J TR XHIET 3% 1 24 1, 250, 000 1,100, 000] A 12.0
FhpmT 3 —1 2

3 (kB 5—31 M7 R IR R EERT2 THOE2 253, 000 225,000 A 11.1

4 |AE5—1 REAR IR ANEHILBERT 4 1% 14+ 38, 500 34, 400{ A 10.6

5 |[EEF5—24 (KB Jis B T XRAERT 3 2% 1 4k 422, 000 380, 000] A 10.0
TWRAERT 3 — 2]

6 |[&IR5—14 AR |[&RTEHET2 THG6 0 0% 24+ 460, 000 415,000 A 9.8
ThEr2—24—11]

7 |FES—1 AeifiE AEHAR 2 TH2 1 7% 4, 450 4,100 A 7.9

8 |5 —1 o] U AT KEBIERT 3 2 0 & 1 84 655, 000 605,000] A 7.6

9 [fLigrPdes —2  (dkgl AR R X 6 5504 THSE3 24 1, 350, 000 1,250,000 A 7.4

10 [BHRS5 —4 e A IR EEIRETARRT 5 5% 1 8, 200 7,600 A 7.3
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